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One who prunes and needs the wood; he is liable twice

OVERVIEW

X372 27 ruled that if one prunes a tree 22 W3, and intends to use the wood, he is
liable for two nXur N1127p, one for ¥y (the pruning helps the tree grow) and one
for 7x 3 (he is harvesting the wood). Our m»doIn reconciles our X3 with a
seemingly contradictory X a.

mMooIN anticipates a difficulty:
= HD RP MNT NI RINAD NN IN (15 97pr7m0) 19913 NT P93 9INRT NN

And this which the X713 relates in 9712 177 P99; they then saw a certain person

who was pruning his vineyard -
- 598 9N TAN 12 YPYY 39199 9193 1159 199N 29931 113 11 N

wp? w1 said to them, ‘he is a 372 and pruning on n°3°2w’. They replied to 5",
the pruner can say, I need the vines for tying down the olive press beam on the

olives. This concludes the X73. M5OI continues with his question -
- 4919 DIVYN 2N AN NINT 2) Yy 9N

Even though that here X170 27 ruled that he is 2%°77 on account of Yu, regardless
that he is pruning because he needs the wood!

mooIN responds:
$DPYPHN TNRIN 4792 51PN JIINN PRY NIN INNDA 99910 NN

There (by n°¥°2w) we are discussing a case in such a manner that the grapevine

is not improved by this pruning, but rather it is ruined by his pruning. Therefore he
is Mo there.

SUMMARY
One is 211 for 7 (if it is beneficial), even if his (primary) objective is for another

! The X3 relates that w'p? w7 joined up with two 2°%7K on their travels, when they saw those sights mentioned there.
2 The X713 there mentions that 0°372 are suspect on My aw. Pruning on n°y°aw is MOK as the 770 writes 1IN X2 797
(7,72 [D2] ®p”).
3 He is not necessarily transgressing any 710°X, since he has no intention of pruning the tree, but rather he needs the
vines for something else.
4 Here he is 77 because he needs the wood, but nevertheless he is ¥v31 0Wwn 21, so there too even though he needs
the o2y for the 7277 n°3, he still should be 2> for 77 on Ny aw!
5 See ‘Thinking it over” # 1.
¢ However, in our case here, even though he needs the wood, but the tree is improved by his pruning.
7 See ‘Thinking it over’ # 2.
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purpose.

THINKING IT OVER
1. If the case in N°vaw is where there is no improvement to the tree,® why did 5"

say X7 9mn 179, and why did they not answer him, ‘he is 9p%p»' (instead of saying
TR IR 7277 172 Ypy)?!0

2. mooIn writes that in N°v>aw he was 9p%pn;!° what would be the ruling if he is not
1N and not Hpopn?!!

8 See footnote # 5.
° See M TN,

10 See footnote # 7.
' See ommax "o,
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